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1. Express ¥ radians in degrees.

2. Express 2 in degree measure.
NS (
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3. If placed in standard position, an angle of 4

Trig Review

MAo

radians has the same terminal side as an angle of
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4, The value of sin 2% is
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5. The value of sinZcos# is

\':'c.-q
k=S
X9

7. If 6 terminates in Quadrant 11 and sin 6 = {3, find
cos 6,

YR =D yLp
=13

Xz=-5
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8. If x is a positive acute angle and cosx = % what
is the exact value of sinx?

@ C'

A.

ol

3 Dast «H) = 8
L

9. If csc® = —2, what is the value of sin ©?
s~ —
1 < S
A =BT B 3 D. 1
10. What is the itude of the graph of y= % sin2x?

11. What is the period of the graph of the equation
y=3cos2x?
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12. What is the period of the graph whose equation is

y=2sindx?
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13. Which is an equation of the graph shown?

A y=sin2x 4
&
B, y=-sin
CE . o
71
D y=2sinx
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